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ELECTRONICS
Paper 2: Analog Circuits and Communications
Time: 3 hours Max. Marks: 80
SECTION - A
Answer ALL questions 4x15=60
1. (a) Draw and explain the working of full wave rectifier and obtain expression for
efficiency.
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B0 [SCALIPEEEER
(Or) S
(b) Draw the block diagram of regulated power supply and explain its working.
StiogOBG %36 wpd. pF dasmite %o A0, T BB DFBYOowE.

2. (a) Draw the circuit diagram of RC coupled amplifier and explain its frequency response
with necessary graph.
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(b) Draw the circuit diagram of phase shift oscillator and explain its working. Write
expression for frequency of oscillation.
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3. (a) Draw the circuit diagram of non inverting amplifier using operational amplifier
and derive the expression for gain.
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(Or) S
(b) Explain the working of Integrator and Differentiator using operational amplifier.
SHTASS woppchb &¥EFNoD “ godfiesd” M0k “ &0SHeE ” Suchow
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4. (a) What is the need for modulation? With circuit diagram explain the working of
amplitude modulator.
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(Or) S
(b) Draw the circuit diagram of Ratio detector and explain its working.
“ TuBrGBEE 7 By, Sockoe X A, BABBWD JSoHBe.
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SECTION - B
Answer any FOUR Questions 4x5=20

5. Draw and explain the working of 11 section filter.
T ES g8 7 Beoss AD, BABUWS ASDoEE.

6. Draw and explain the working shunt regulated power supply
“ 508 BigBeE %56 $RB 7 veoos iR, BIBLN ISdoHE.

7. Explain the effect of negative feedback on gain of the amplifier.
wogpend oY), Tond s “ INAT $& w5 7 Gy, Perssnto DSBowBD.

8. Explain how the frequency is stabilized using crystal oscillator.
‘358 LWBLE T % aBARIoD FRDTe B pOLBoS FWS* AsdoE.

9. The base currents in a differential amplifier are 20 pA and 24 pA. What is the value of the
input offset current and input bias current?

2% GBS wopciod BS $Bo&) 20 LAROS: 24 LAGR)D. T &Y, 3RdE T8
5308 50050 3RDE wird 8o JeoSes HQE?

10. A summing amplifier has Ry = 10KQ, R, = 10KQ, R, = 5KQ and R, =6KQ. If V =6V,
V,=-3Vand V_=-0.8V. Calculate V.
o5 ::é:b&oﬁ woppal Ry =10KQ,R, =10KQ, R, =5KQ 50ais. R; = 6KQ. deoSexs 504
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11.A carrier wave of 1000W is subjected to 100% modulation. Calculate (1). Power of
modulated wave (2). Power in USB and (3). Power in LSB.

25 1000 W 50058 35 100% S7egBaS% 10 DHndsd. T Bwf) 1) SREFBAS
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12. Explain the working of AM diode detector.
“AM &&rE &858 7 986N dSdotR.



